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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each
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In AABC rt. angled at C, if 3 cotA =4, find the value of sinB. 4
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If mode =10.6 and median = 11.5, then find mean, using an empirical relation.
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Question numbers 5 to 10 carry two marks each.
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Show thal {\ﬁ + JE]E is an irrational number.
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Determine the values of p and q so that the prime factorisation of 2520 is expressible as
29x3Pxqx7.
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Find a quadratic polynomial, the sum and product of whose zeroes are J3 and 3
respectively.
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State which of the two triangles given in the figure are similar. Also state the similarity

criterion used.
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Prove that (s - D (1 cosecd) = - 1
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For the following data. find mode
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Question numbers 11 1o 20 carry three marks each.
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each. If you want full packs of both and the same number of pencils and crayons, how many
of each would you need to buy ? |
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Find those integral values of m for which the x-coordinate of the point of intersaction of lines
represented by y=mx +1 and 31+ 4y =9 is an integer.
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i1’ = 6" +6x + k is completely divisible by x— 3, then find the value of k.
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The arvas of two similar triangles are 144 cm? and 81 cm?. 1f median of the first triangle is 16
cm, find the corresponding mvedian of the other.
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sn 2y s M 2 cos 43° . cosec 47°
n'mvb‘;‘ soc 6° tan 10° tan 40° . tan 50° . tan 80°

sin 25 *u.mc?ﬂ’_ 2 cos 43° . cosec 4T
oS 6F = 56° tan 10° . tan 40° . tan 50° . tan 80°
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sec A [l—sinA) (secA+tanA)=1

Prove that :

wac A (1=sin A}, (secA+tanA)=1
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A survey regarding the height (in cm) of 50 boys of class X of a school was conducted and the
tollowing result was obtained

i. Height (in cm) Number of boys
1 Less than 145 4
| Less than 150 11
l! Less than 155 28
{ Less than 160 38
lt Less than 165 45
I] Less than 170 50

“Find the median height of the bays.
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Given below is a camulative frequency distribution table showing daily income of 50 workers
of a faclory !
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workers

ve)’ : is data.
Draw cumulative frequency curve (ogive) ‘of more than' type for this da
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Question numbers 21 to 31 carry four marks each.
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Can the number 6", n being a natural number, end with the digit 5 ? Give reasons.
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Determine the value of k for which the following system of linear equations infini
number of solutions : e s "

(k=3 x+dy=k kx+ky=12
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left over amount he kept for his remaining life which 15 21
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What is the inspiration of old man ?
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and 81 cm?, find the ratio of thetr penmeters

27 o cosectA + 8) = 1 31 cosecia — 8) =2 & M T Frwifind -

] sinA (088 + cOsA sinB

ranA + tanB
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(1) sind cosB - cosA sinB.

tanA + tanB
1 - tanA tanB
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¥ 2 cosé — b sin@ = ¢, ‘then prove that a snf + b cosé = sval +F =&

3
29 oz st f¥ .

secA -1 | sinA "‘;_im_m}z
secA -1 L1+ cosA

Frove that :
2

secA-1 _(_sind \], = (cotA — cosecAl
!C-A-"‘l Ll*m'“z

mﬂtmﬁnﬂaﬁnqﬂtﬂﬁnﬁuﬁﬂmwi#mﬂnmﬂ "
30
Fmmm i

T

EoF 0-10 \wzﬂ ‘M \N |*"5“ 1!3““"' |

L.

page 100f 11

http://jsuniltutorial.weebly.com/

Scanned by CamScanner



